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1-10 Matching A) 1000; B) 4.184; C) temperature; D) heat; E) calorie; .
F) Joule; G) Newton; H) specific heat; 1) thermometer; J) manometer; \

K) calorimeter; L) endothermic; M) exothermic . Lo
' - |
1. The total kinetic energy of the particles in a sample of matter. - ' : \
2. Instrument used to measure temperature. _ \
3. A reaction that absorbs energy.
4, The SI unit for energy.
I'. 5. The a\ierage kinatic energy of the particles in a sample of matter.
6. The amount of heat needed to raise the temperature of one gram of a
substance 1 °C. '
7. Instrument used to measure the gain or loss of heat. ‘? ‘2
8. _.___ The number of joules in a calorie. | R ]
9. ___ The amount of heat needed to raise the temperature of one gram of | 4417 :
water 1 °C.
10. The number of calories in a Calorie. SR o
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11, Caicutate the specific heat of a 75.0 g object that Ioses 3413 ¢ n o ) 07
of heat as its temperature goes from 75.0 °C to 63.0 °C. ‘g (’75:,?)( ¢3-73 .
12, The specific heat of Al is 0.902 J/g°C. How mugh heat is Iost bya25.0g plece of Al
# when its temperature goes fram 75.0 °C t0 25.0/°C?
: hewd = €255 Y. Q02 The )(a5-75°¢)y = =253 )
13. Lead has a specific heat of 0.128 J/g°C. How tﬁuch heat is needed to raise the
temperature of a 150 0 g piec /e of Jead 25.0 °C to 100.0 °C?
heat = (:l“‘f L2E - rf() U 25 %) Wy J :
14. A chemical reactlon takes place ingide a calorlmetell which contains 75.0 grams of
water. The temperature of the watér rises from 21.0 °C to 23.0 °C. Calculate the heat .
given off by the reaction. | .+ = . _ (7s5)(4. [gq)( 33-20 %) I ~ang 0 \\
15, A chemical reaction takes place inside a calorimeter which contains 100.0 grams of \
- water. The temperature of the water goes from 25.0 °C to. 23.0 °C. Calculate the heat

. absorbed by the reaction. bk ren @ m(lf-“j)(q»’g'f)(l-% “a5¢ ) o §37 g

[ 16. 5.00 g of a substance at a temperature of 100, °C is placed in a ;a eter holding’
I . 75.0 g of water at 20.0 °C. The temperature of the water rises t0°22.0 °C. What is
t  the specific heat of the substance? (5aa aa=100°c ) = — (75534 agH)( 32 20%)
[ = I lt’ ‘ ‘\T/ s
17. A 10.0 gram piece of metal is heated to 100.°C. It is piaced in a calorimeter
containing 75.0 grams of water at 25.0 °C. The final temperature of the metal and
: water is 27.0 °C. What is the specific heat of the metal?
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Enthalpy Stoichiometry Worksheet

How much heat will be released when 6.44 g of sulfur reacts with excess O; according to the
following equation?

28430, 280 AH = -791.4 kJ
(9,'-{1{2_3] L mol <} =Y KT ) -
=T ] 32 { 2 m § = -159 w7

How much heat will be released when 4.72 g of carbon reacts with excess O; according to the
following equation? _
C+ 0z 2CO; AH =-393.5 kJ

il €\ =373.5 kT

How much heat will be absorbed when 38.2 g of bromine reactsg'with excess Hz according to

‘the following equation?

Hy + Bry = 2 HBr AH =72.80 kJ
H
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How much heat will be released when 1.48 g of chlorine reacts with excess phosphorus
according to the following equation?
2P+5Cla > 2PCls AH = -886 kJ

e Clal Imelcla | 886 KT
| “‘70.%4/ZTSWI ¢y
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How much heat will be released when 4.77 g of ethanol (C2HsOH) reacts with excess O3
according to the following equation?
CoHsOH + 3 02 2 2 COz + 3 H20 AH = -1366.7 kJ

HUH] | oo [ ~1366,7 k7T
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